SD390

&, =00035 f/<50N/mm’

&, = (390N / mm?) /(200kN / mm?) = 0.001950

! !

Py = Piks g,g%g ’ %
cu y oy
0.0035 27
0.0035+ 0.001950 390
0.68-0.6422-0.0692 = 0.03023(3.02%)

p(= 0.01407) < p, (= 0.03023)

under-reinforcement

bd? =108x10° mm® pf, = 0.01407 -390 = 5.487N / mm?

pfy

M. =bd?. pf (1P
v PhE=17¢

)

2
108x10° mim?* -5.487N / mm? (1— . >487N /mm’”

17  27N/mm?

108-5.487(1-0.1195) x10° N - mm = 522x10°N-mm =522kN -m

bd?f_ =300-600° - 27 = 2916x10°N - mm = 2916kN - m

pf,  0.01407-390
f, 27

0'20732) = 0.1789

0 =0.2032 (g )

MU

2
bd?f,

@
=p(l-—) = 0.2032(1-
o 1.7) (

M, =bd?f, x0.1789= (2916kN - m)x 0.1789=522kN - m



A, =5D29

under-reinforcement

bd? =108x10° mm?®

p=A/bd=5D29/bd =32.12/30-60=0.01784 pf =0.01784-345=6.155N/ mm?

pf
M =bd?- pf (1- —L
L P a=17¢)

2
108 10° mm’ - 6.155N / mm2 (1 . . &-L2ON/mm™

1.7 27N/mm? )

664.7(1—-0.1341) x10°N -mm = 576x10°N-mm =576kN -m

bd*f, = 2916kN -m

pf, 0.01784-345
f 27

0'22780) = 0.1974

4

=0.2280 (¢ )

M @
2 Mo _ -y = 0.2280(1-
ooz, 4717 (

M, =bd?f, x0.1974= 2916kN - mx 0.1974=576kN - m

A =8D35
., =0.0035 ¢, =0.001950 -
p=A/bd=8D35/bd = 76.53/30-60 = 0.04252 p=4.25%
Py = FiKs /5cu e 0.68 0.0035 2l 0.03565, p,=3.57%
ey t+e, f 0.0035+0.001725 345

p(4.25%) > p, (3.57%)
over-reinforcement

over-reinforcement




